1. o3 399 22 AABC oA &0l h & FolH?

A

VN

s~-Hogg _---

@10(\/5—1) @10(x/§—1) @10(\/§—x/§)
@10(2\/5—1) @10(«/5—2)



@ (3- V3)m @ (3V3-3)m ® (4V3-1)m
@ (4V3+1)m ® (3V3+3)m



3.  t= 139 aABCY| Hole?

D 7V2cm? @ 14V2cm? ® 21V2cm?
@ 282 cm? ® 56 V2 cm?



® a=ccosB

@ c¢=asin(90°- B)

® ¢ =bsinB+acosB



o3 AZ+4 o] Yol & FotH? A
)
\
D 7V2cm? @ 7vV3cm? 2ecm\_ 135°
@ 8v2cm? @ 8+3cm? B ~-16em--~

® 9v2cm?



e TRl AR Yol g & Ta
AR

@ 24cm? @ 24v2cm?

® 24v3cm? @ 48cm?

® 48+v2cm?




e I A BC = 20, /B = 120°
o] AABC ©] Wol7l 403 & uf, AB
o] Aol g o5tH?

D 8 @ 11 ® 12

@ 13 ® 14

120

-~

7;}

B --90---"



ohS Iy e AABC oA AB = 6,
BC =100°]2, Yol7t15v3 & o, /B 9]
27127 (2 90° < /B <180°)

O 95° @ 100° @ 120°

@ 135° ® 150°



9.

oS 283} e AABC oA AC = 18
,BC =129°]1, Ho]7} 54 & uf], £.C 9]
27127 (& 90° < 2C < 180° )

O 95° @ 100° @ 120°

@ 135° ® 150°



10.

kS ™83 o] AABC oA LA =
75°, /B=60°, AB=10cm & T,
h ©] Ao|E FohH?

5
T\/gcm @ 10cm
1 2
@ 5+v3cm ® 0_‘_75\/_&11




@ 3+3cm
@ 6v2cm

C

@ 4+v3cm
® 6V3cm

30°

~

~

--~16cm ---~

® 5+3cm









14. o2 I 4AF ABCOl ¢
A AABC 9] =°] h+=?

@ 30(V3+1)

@ 40(V3+1)

® 50(V3+1)

@ 60(

(

0(V3+1)
® 80(V3+1)



15. o3 2 AABC 7} it} AB =
20cm 22l & o, x o] do]=9
D 8V3cm @ 9+3cm
® 10vV3cm @ 11 V3cm
® 12vV3cm




16.

@ 6V3em
@ 7v2em
® 7V3cm
@ 8+2cm
® 8V3cm




@ (20V2 + 1.7)m @ (25V3+1.7)m
® (25V2+ 1.7)m @ (28V2+1.7)m
® (30V3+1.7)m



18. ©& ™8t Zro] /B=75°, AB = AC = 6cm ¢l AABC 9] {o]=?

® 6cm? @ 6+vV3cm? ® 9cm?
@ 943 cm? ® 12V3cm?



19. o3 193 g2 449
ABC 7} 9t Hlo]7} 36cm?
< of, BC 9] Zo]&?

2143
Tcm
2243

5
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5
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5
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© & 0 ©
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20. & 1904 AC = 6cm, AB = 12cm, A = 60° ¢ o}, ACHB <]

Kol Faofat,
C
Gcnllrl.
A o =B

-t 12emr-77

o 212\/3 ® 23;/5 @ 252\/3
@ 273 5 293

2 2



21. t2 IHA AABC 9] Hol7t 50 V3em? &, x ©f 27

@ 20cm @ 2lcm ® 22cm @ 23cm ® 24cm



22, th& J" 3 Fo] AZFE ABC oA
BC = 10cm , AH 1L BC, /ABC =
40°, /ACB =50° & uf, CH 2] Zo]
=2 (&, tan50° = 1.2, tan40° = 0.8
)

@D 2cm @ 4cm ® 5cm @ 6cm ® 7cm



23. o2 1392 AABC A /ABH =
60°, /ACH = 45° ,BC = V3 +1
o off, AH 9] Zo]E x =t 5tH 12 =
TFSHH?

D 2.2 @ 3 ® 35




thS 23t Zro] A o] Zolzt 20em Q1 7}
elth, ZAOB =30° ¢ ], o] 71 A £ 7]
o2 9 cm 9] Eolof QE=A] FoHH?

@ (20-10V3) cm @ (20-10v2) cm
® (20-5v3) cm @ (20 - V30 cm
® 5 cm



25.

B3] = oA 6m B oA 4
e et & 7ho] 37)7} 51°, et
B Zko] 37171 36° Hrt. o] ¥ AA|
o] gol5 Fatoleh (&, tan51° = 1.2,
tan 36° = 0.7)

@ 9.2 (m) @ 10 (m)
® 11.4 (m) @ 12.6 (m)
® 13.2(m)




26. T2 1389 AABC 94 /A = 30°, «CBH = 60°, AB = 40 ¥ uj,
AABC 9] Hol=?

@D 203 @ 2003 ® 4003
@ 6003 ® 8003



27. te O34 BC = 4em, /B = 30°, /ACH = 45° Y 4], AABC 9]

Woli?
A
' A []
B ~4cem- C H

@ 5cm? @ Tcm? ® 3(V2+1)em?

@ 3(3- V2)em®>  ® 4(V3+1)em?
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28. ThE2& AB = 5cm , BC = 8cm ©]1, Z/ABC = 45° ¢l AABC 9]
HolZ st BAolt, [ | obof bghe Ao HEE A
27

/A
BC
T---8em--~
AHIBC HHEHOH
Ai—sx[ -2V
1
. AABC = 5 x[ ]
1 5v2
= - X8X —
2 2
=10V2(em?)
@D cos45°,BC x AH @ tan45°,BC x AH
® sin45°,BC x AH @ sin45°,AC x BC

® sin45°, AB x BC



29. o3 293 22 AABC 9] HolZt 7v3em? E W, LA O] A7)0
(F, 0° < A <90°)

® 30° @ 45° ® 50° @ 60° ® 65°



30. o2 199 AABC 94 ®H BC 9] $£d& M, BC = 10, AC =
5 AM =2+5 & o}, AABC 2] Hol&=?

@® 10 @ 15 ® 20 @ 23 ® 25



